
Question # 78484, Chemistry / General Chemistry 

What is the ΔHo of the equation 2C6H6 (l) + 15O2 → 12CO2 (g) + 6H2O (g)? Given: ΔHfo C6H6 = 

49.00 kJ/mol, ΔHfo CO2 = –394 kJ/mol, ΔHfo H2O = –242 kJ/mol. 

A. ΔHo = –6,082 kJ 

B. ΔHo = –6,278 kJ 

C. ΔHfo = –6,082 kJ 

D. ΔHfo = –6,278 kJ 

E. ΔHfo = 6,278 kJ 

Solution:  

Δ𝐻0 = ∑(Δ𝐻𝑓 𝑝𝑟𝑜𝑑𝑢𝑐𝑡𝑠
0 ) − ∑(Δ𝐻𝑓 𝑟𝑒𝑎𝑐𝑡𝑎𝑛𝑡𝑠

0 ) 

Δ𝐻0 = (12 ∗ Δ𝐻𝑓 
0(𝐶𝑂2) + 6 ∗ Δ𝐻𝑓 

0(𝐻2𝑂)) − (2 ∗ Δ𝐻𝑓 
0(𝐶6𝐻6) + 15 ∗ Δ𝐻𝑓 

0(𝑂2)) 

Δ𝐻0 = (12 ∗ (−394) + 6 ∗ (−242)) − (2 ∗ 49 + 15 ∗ 0) = −6.278 𝑘𝐽/𝑚𝑜𝑙 

P.S. We've calculated nonstandard enthalpy of reaction, because H20 isn't in standard state. 

Answer: B 
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